21[01[21

9 b) 13 c) 82 d) 25 or 1 e) /23
10 100 100 100 4 1000

a)

) 08 ¢ 035 h 06 1024 j 0125 k) 0.75

No because 0.84 as a decimal is 84
100

Working Deeper

Write the amount each child ate as a fraction?

Sam 25 or 1 Mark 3 Jill 35
100 4 10 100

What fraction of the pizza is left?

25 +30 + 35 = QO so 10 1 isleft
100 100 100 100 100 Or 10




The whole has been divided into equal parts.

Each part is worth | (- () |

| () | parts out of are shaded.

. . 10
This is equivalent to |-—
(oD

Shade 0.17 of the hundred square.

R BRI R R IEE

Complete the sentence.

|} |partsoutof | |00 |are shaded.

Write 0.17 as a fraction.

12

0.17 =
loo




a) gb) 13¢) 82 d) 250r 1
10 100 100 100 4

g) 035 h) 0.6 i) 0.24  j) 0.125




